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Please check that this question paper contains 8 printed pages +2 Maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 19 questions.

Please write down the serial number of the question before attempting it.
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General Instructions :

(i)  There are 19 general questions.

(ii)  All questions are compulso

(iii) Marks for each question al§ i d against it.

(iv) Question numbers 1 to a ort answer questions carrying 3 marks each.
Answer to each of th jons should not exceed 80 words.

(v)  Question number, 13%are also short answer questions carrying 4 marks each.
Answer to each esP questions should not exceed 120 words.

(vi) 7 and 18 are long answer questions of 5 marks each.

eXch ofpthese questions should not exceed 150 words.
(vii) contains test items of very short answer. It is of 5 marks.
(viii) of the world and India provided to you must be attached with your

(iii)
(iv)

(v)

o®emplates or stencils for drawing outline maps is allowed.
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(vi) F97 q@r 16, 17 3T 18 @=&-3a7 aiad J97 & 3T 9% & 5 3% &1 0F gda §97
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Which approach in the study of human geography was followed by Lucian Fe
State two characteristics of this approach.
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What is pastoral nomadism ? State its four characteristics. 1+2=3

AR TR B e € ¢ TEE AR FISIart aarey | @o

Explain three factors which are responsible for pment of inland
waterways. 3x1=3

ST FaIrt & foawm & foo Saver HIFT |

L
Distinguish between primary and second )&tlv by stating three points of

each. 3Ix1=3
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What is rainwater harvesting ? Stffc 1o ain objectives. 1+2=3
UqE JEd §aiEy |
till low in India ? Write three main reasons. 3x1=3
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aracgristics of major seaports of India. Name any two States which
S 2+1/24+15=3
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India. 3x1=3
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Draw or trace in your answer-book the outline map of India, with the help of map given on
page 3 and mark the following therein :

(9.1) Industrial region No. 3 with its name.
(9.2) Industrial region No. 5 with its name. 1+1+1=3
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For Blind Candidates only in lieu of Q. No. 9.

Faw ghedie wenffat @ R w. 9. 9 3 =m W)

.1)  Name the major industrial region in the State of Jharkhand.
(9.2) How many major industrial regions are there in India ?
(9.3) Which industrial region of India is famous for jute textiles ?
9.1) FR@s W9 | Ruq uh y@ AEifee ger w9 ey |
(9.2) 9RA ¥ HA fhas U@ SHERE YT § 2
(9.3) T2 T & [0 YR 1 BE-AT SIS YL qRRg © 7

3x1=3



10.

Study the following map and answer the questions given below :
(10.1) Name the railway line shown in this map.
(10.2) In which country this railway line lies ?

(10.3) Name the two ocean coasts which are linked by this railway line. 3x1 =3
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For Blind Candidates only in lieu of Q. No. 10.
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(10.1) Name the famous seaport located on the south-west coast of Australia,

(10.2) Name the longest railway line in Australia.

(10.3) Name the two terminal stations of the longest railway line of Australia. 3x1 =3
(10.1) smeferar & sfeor-uigem de W Rad uw 9fs q9zuae &1 W fafae
(10.2) seforar & @99 @R Y@EE & A fafEe )
(10.3) SEforar & qad o I@EE & fft~aw G & & R & AW
11.  Explain any four types of rural settlement patterns found in India. 4x1 = 4
qRA § 99 AW ard T IRAAl & Il @ el aR Y6Ri i
12.  How does flexible production differ from flexible specialisa@xplain with two
examples of each. 242 =4
e ITed, g [AieSiRor § fhg 9hr 2 T A IIAET AHT
AT Eﬁliiﬂq |
13. Development of Sup in India
Project Total Connecting Already Under Contracts Completion
length Completed | Implemen- to be Target
tation awarded for
Golden 5,846 Kms. 1,159 Kms. | 4,551 Kms. | 136 Kms. Substantial
Quadrilateral completion
by Dec. 2003
North-South tdPKanyakumari
and 7,300 Kms. 800 Kms. 688 Kms. [5,812 Kms. Dec. 2007
East-West r to Saurashtra
Corridors ’ (Porbandar)
Connectivity to Kandla, Jawaharlal
10 major port: Nehru, Mormugoa, 56 Kms. 113 Kms. 194 Kms. Dec. 2005
Mangalore, Cochin,
Tuticorin, Chennai &
Ennore, Vishakhapatnam,
Paradip and Haldia
Ot 653 Kms. 136 Kms. 179 Kms. 338 Kms. Dec. 2007

tudy the above table and answer the questions given below:
(13.1) What is the total length of North-South and East-West Corridors ?

(13.2) What is the completion target of these Corridors ?

(13.3) Name the four metropolitan cities of India which are to be connected by the

Golden Quadrilateral. 1+1+2 =4
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four sources of air pollution in India. 4x1 =4
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tudy the diagram given on page 7 and answer the following questions :

(15.1) Name the country with which both the import and export of the U.S.A. are

lowest.

(15.2) How much is the total value of trade of the U.S.A. with Western Europe ?

(15.3) How much is the value of imports of the U.S.A. from Japan ?



(15.4) What is the balance of trade of the U.S.A. with Canada ? 4x1 =4
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For Blind Candidates only in lieu of Q. No. 15.
Haw ghede wdenifat @ R w. 9. 15 3 ®E W)

) What situation arises if exports exceed imports ?
5.2) What is balance of trade ?
(15.3) What is negative balance of trade ?
(15.4) What is the meaning of bilateral trade ? 4x1 = 4

(15.1) afe Fafa, smaa a ifte & e ar #ar Rafy s9dt & 2
(15.2) =AMUR aJa fhd Fad & ?

(15.3) fa@m =R a<ed e ®ed & ?

(15.4) fauelim =R {6 @ed & 2




16.

17.

18.

19.

Describe in brief, five different types of areas of low density of population in the world.
5x1=5

AR ¥ S=EE & 9 a9 a9 O TR & &1 @ 989§ guie Hife |

Explain the term ‘Human Development’. Why is Human Development necessary ? Give
four reasons. 1+4=5

qrg w9 B T Bt | 9T fOme wJbi e 2 AR SR S |

What are the ‘squatter settlements’ and ‘slums’ ? Describe three main characterisy

squatter settlements. =5
‘sfepa aiqar ok afew afaal e #ed & 2 sWfusa afaal
faQIorarsti &1 9 i |
(19.1) In the given outline map of the world four features are shown as and D.
Identify them with the help of map legend and write thgs rre%names on the
dotted lines given in the map. 4x15=2
(19.2) On the outline political map of India provide 0 ate and label the
following with appropriate symbols :
(1 Anuclear power plant in Tamil Nadu.
(i) One major seaport in Karnataka.
(i) A state where Telugu is mainly s 0 3x1=3
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Blind Students only in lieu of Q. No. 19.
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(19.1 e the East Asian country famous for tea production.
' ame the smallest ocean of the world.
3) Which is the famous nuclear energy plant in Tamil Nadu ?
) Name one major seaport in Karnataka.
9.5) In which state of India Telugu is mainly spoken ? S5x1 =5

(19.1) v&f ufyrr & us 29 @1 99 fafau St 9 & Sded & fau gfbes 2
(19.2) 98X & 999 Bl ABMNR & A9 {oiay |

(19.3) TfHeETE ¥ UH IS TATI] Soft GI DT A1 § ?
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(19.5) YR & g =T & a7 yH@q: ardl Al & ?



